91I = 9" 6! _3||

Z A\
——= o o
5'-3" 11 SPACES @ 6'-3" = 683" 5'-3~
T\ lWW1\ T i T T T T T n T 0 T i i 2 b
[l 11l [ L1 I ] el 1 =1 I+] | K1 | 1+] 2] || I+1 Iil [l
' 1‘-?2 g 1 n
§ 7 |1 -9 1q |
- 198" rn 18-63" ol ¥ 1663 i 1883 =T 16-64" )
-
i WEST RAILING, FACING WEST
W PANEL NOT SHOWN FOR DRAWING CLARITY ’ Noiciowt Assacy ol Transnetition
RECEIVED
) TERIAL
CK'D BY SMCRSF___ oK'D BY WDL ELCL F Mo le
January 20, 2016 DETH#|QTY| PART DESCRIPTION 3" - 10 3/," ASTM DESIGNATION
RESUBMIT YES Rejected 1 | 28 [0033.903090 |W6x@5, TYPE I, FASCIA POST @ 3'—7 3/4" ASTM AS72 Gr. 50
8
S 10 i u BYRSY DATE 021112016 2 | 1 TBD HSSB8x4x3/16” TUBING € 19'-8" ASTM AS500 Gr. B
3§ = 1 10— 2 | 1 TBD  |HSSBx4x3/16" TUBING € 19'-7 5/8" ASTM A500 Gr. B
3., 5. 13" 3, 2 | 6 TBD _ |HSSBx4x3/16° TUBING € 19-8 1/2° ASTM_A500 Gr. B
12 16 '““ | L T 2 | e TBD _ |HSS8x4x3/16° TUBING € 16'-6 7/8" ASTM AS00 Gr. B
@ 6 i 3 3 | 64 | 0033.90045 |HSS8x4x3/16"° TUBE BLOCKOUT @ 6 ASTM AS00 Gr. B
—_— J | 1= G'% 4 | 32 | 0080.05710 |[5/8°x10° POST BOLT, NUT, & F.W. ASTM A307
! / 25" ”{ 4 5 | 32 | 0080.15595 |5/8°x13" HEX BOLT ASTM A307
= e Iz \ 1 6 | 96 | 0080.15036 [5/8°x2° HEX BOLT ASTM A307
— — L _J g " 1] -
4 11" \(31%" ? gl =01 7 | 32 | 008015913 [3/16°x1 3/4°x3" SPECIAL WASHER ASTM_A572 Gr. 50
- 4 8 |128] 0080.15901 [5/8° HEX NUT ASTM A307
@ FASCIA PLATE WASHER (DETAIL #15) SPECIAL WASHER (DETAIL #7) 9 |256| 008015911 |5/8" FLAT WASHER ASTM A307
m 10 | 10 | 6043.00012 |10 GAUGE “W* BEAM @ 12'-6" C.-C. AasHTO Mi80]|Class B
HE
= 10 | 4 TBD 10 GAUGE "W’ BEAM @ 11'-6" (SPECIAL) C.-C. AASHTO MIS0 Type Il
" 10 | @ | 6043.00002 [10 GAUGE “W* BEAM @ 6-3" C.-C. AASHTO M180Q)
13 i 1 1 | 4 | 0033.90301 |W6X25 POST @ 6'~0° 0., POST #D ASTM AS572 Gr. 50
i *[ 12 | 6 - DELINEATOR — TO BE SUPPLIED BY FR LAFAYETTE _ [ALUMINUM
7" 13 | 144 | 0080.15013 [5/8°x1-1/4" SPLICE BOLT (PANEL ASS’Y) ASTM A307
3'-103%/," | 1 | 13 | 144 | 008015905 |5/8°x1-1/4° RECESSED NUT (PANEL ASS'Y) ASTM _A307
. i 14 | 112 | 0042.21408 |l 1/4'x8" STUD ASTM A449
3;(7§| —1 14" 15 | 224 | 0080.19922 |5/16°x2 1/2°x3 1/2’ FASCIA PLATE WASHERS ASTM AS72 Gr. S0
4 i | 16 |24 | 008019918 1 1/4° HEX NUT AASHTO M4 ASTM
8" fg” o 17 | 112 | 0080.19921 |1 1/4° x S° COUPLER NUT W/ RT. HAND MACH. THD. _ |AASHTO Mi64] AG63
18 | 112 | 004221412 |L 174° x 12° MACHINE BOLT, THREAD LEN. @ 3 ASTM A449
3-103/," E%"X1 13/16" SLOTS (3)()/ 19 | 8 | 0033.90074 |[C7x9.8 CHANNEL SPLICE € 2'-6 1/2° |asTM A36 —
4 ¥- SUPPLIED BY OTHERS
dil 1 1/ "
.. P 3
=3 4 W6 x 2
MNOTES:
2-3 5 1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525,
2.  GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16", PRIOR TO GALVANIZING.
3. ALL POSTS SHALL BE SET NORMAL TO GRADE.
/ 4. SPLICES FOR THE STEEL BEAM GUARDRAIL SHALL LAP IN THE DIRECTION OF TRAFFIC.
u =7 A RAILING JOINT SPLICE SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN INTEGRAL ABUTMENT BRIDGE AND AT ALL
- SUPERSTRUCTURE EXPANSION JOINTS.
f’ 6, SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR THE
T — g WPS-3035 NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT, FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON THE
- ? ™ ‘V‘@ DRIVER'S LEFT.
| 3 ¢ 51"1 6" 7. THE I/2" EXPANSION JOINT SHOWN IN THE RAILING ELEVATION IS DESIGNED FOR BRIDGE LEMGTHS UPTO 80 FEET, ANY LONGER SPANS
|- - " WILL HAVE TO BE MODIFIED TO ACCOUNT FOR THEIR MOVEMENT,
{ v R ? . B 8. FOR RADII LESS THAN 950 FEET, H5588x4 TUBES SHALL BE SHOP BENT TO FIT THE APPLICABLE CURVE.
14 T g ' ' 31II 9. THE MINIMUM DISTANCE FROM THE LAST POST TO THE END OF SLAB IS I6".
) - - - B i 10. FERRULES SHALL BE 12L14 COLD DRAWN CARBON STEEL.,
1 '-—21" - = < > \|This 4 1/2" dim. is 4 I1. HOLES IN RAIL FOR RAIL TUBE ATTACHME:"I‘WILLBE SHOP DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT
. : 1 1 R 1 OR TO INSTALLATION.
2 164 A. A - |below 3" of pavement, | 1r.odn 2. THIS RAILING MEETS THE REQUIREMENTS FOR A TL-2 SERVICE LEVEL.
| _ # . : -25
_ 4 extending to 11" from
il = = 3 fascia, that is not 114 @1%"X3" SLOT ITEM_#: 525.44 | sHEET 10F 2
—H | - — ' ! 4 ™ STRUCTURAL STEEL TO
L S — shown in the this ! (4X) CONPLY W/ ASTH A6 BRIDGE RAIL DETAILS SHEET
4"“ . . I . 1 1 e— | ROUTE # TH-4, RURAL MINOR COLLECTOR, CLASS 2, BRIDGE 4 OVER WHITNEY BROOK
~ < : drawing of the deck. 3 | G ELJE PER TOWN OF GRAFTSBURY, COUNTY OF ORLEANS, VERMONT
: " |Refer to Standard 1 74 <|/- OTHERWISE SPECIFIED. R[NO. | DATE | DESCRIPTION BY : NO.| DATE | DESCRIPTION _ | BY,
— E
S-367A "Section B-B" 13 3x) 3, 13?\T”LER€}¥§:E LA v et
o £ 4 4 HOLES -2 1/32- SR ER| cnEokeD | b1 e
_53u_|_g3u_ FRACTIONS] - * 1/16* FELDERLEE,INC. [ LAt
ASCIA POST (DETAIL #1) %% il e ouks CORNSRS NEW ‘TORK 1457% ORI  TOI |
| don't think this can be || emait dieng@etderiee.com / speckaideriescom| " @y v woraTsErveTTECPAFTSBUAVED

fillet welded.




) 91| - 9l|
N E
s —— 9
T/I/_\ 5.3 11 SPACES @ 6-3" = 689"
[ wwa n T T T N I T I 'L i il
(1] 1] I+ T ] [-] | 4] [2] LT [] =] [« T
" gl
1'-10 7/g"
= et 1.6 ‘% w{%w 1'-6'--12“ 18.-85 -6 1. 13_5%“ e ‘&
2
I_ E
"W PANEL NOT SHOWN FOR DRAWING CLARITY EAST RAILING, FACING EAST
10 1/2"(TYP) ) ) 10 1/2"(TYP)
34 x 2 V&' sLat @ SRk LA S 6 1/4"(TYP) 3/ x 2 1/2° SLOT @30 P p A ESNLDDST'\ 6 1/4"(TYP)
) e X L= n o) A% (o
= S 5 S o i) 5 S
R . DETAIL 10 - 55 ° 1 5/81° 7° DETAIL 10-SPECIAL = ° L
b - " L i ?'_ " = - = T—— " TYP
6!_3!! 6 _3 2 (TYP) 6'-3“ 5'._3“ 2 ( )
10 Gauge "W" Beam @ 12'-6" 10 Gauge "W" Beam @ 11‘_,6“
13'-6 1/2" 12'-6 1/2"
3/4" x 2 1/2" SLOT (3x) 10 1/2"(TYP) 1'-6" TO POST C-L (TYP) ¥
/ 29/32° x 1 1/8° SNLEIT-\ 1/4(TYP |—_ 12 ;
(8x) TYP, BOTH ENDS " " '
; E 'J'O \‘ [w] ( ) ___3|1_ _3|I_I
= L) o 5] S1 ey e I s B
e DETAIL 10 @6-3" . < . ‘4 T
[w] [w] [w] [w] L A o e 9___
LLow \__ = = iy D—
6:_3“ 2 (TYP) ! / /
_______ - _; — R e ]
——10 Gauge "W" Beam @ 6'-3" B s
' " @%’j/ ot 1 sLotd” \Hss8xdxa/e"
7'-31/2 4 _
‘ /@3/4' DRILLED THFU C4X) .
|"*8”""'| * | [ W ]
T T c7x9.8-
| | 3 4 3 3 S/8° NUTS TACK WELDED (4X)
| *_'7 KRR SPLICE (DETAIL #19)
I -!- I“ I 2l'6%||_
3 I 2|'3_1||
,.r,f 1 (0 o 1 2
47— o U 7 165
?l' | ‘.3"“' <|
6l b | |
11" —n o o o
I : rP —_ 2%"—-—' DETAIL 12 I_ 35
3 i Z e ST re # rﬁ]_ # | U\\@%’m 1/2" SLOTS H DELINEATOR DETAIL 2
i ' (3X)
/
16 : —— ' ITEM #: 525.44 | SHEET 2 oF 2
6'-0" i A STRUCTURAL STEEL TO
T |7 F/ —b COMPLY W/ ASTH A6 BRIDGE RAIL DETAILS SHEET
f S i — B AL ARG YORBE: PER ROUTE # TH-4, RURAL MINOR COLLECTOR, CLASS 2, BRIDGE 4 OVER WHITNEY BROOK
/N Vermont Agency of Transportation ASTM Al23, UNLESS TOWN OF CRAFTSBURY, COUNTY OF ORLEANS, VERMONT " =
3 / 4 I v RE c EIVED OTHERWISE SPECIFIED. R{NO. | DATE DESCRIPTION BY| R |[NO.| DATE DESCRIPTIO
| W6 x 2 CcK'D BY SMCRSF  gx'p BY WDL TOLERANCE UNLESS v v
( 3 ><> |i J 20. 2016 E,;EE';W_ISE ?ng.n' G| DRAWN | EP. | 11316
ey - FRACTIONS - & 1/16" ELDERLEE,INC. @ a6 CHEGKED | DI
ANGLES - + 1/2° T ]
BLOCK-QUTHDEIAIL #3) DETAIL #11 S S 7 YO 101 R | sy o

Tel:315-789-6670 Fax:315—-789-6615

[DRAWING NO.FR LaFAYETTE-CRAFTSBURY {34}




